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Mathematics

1. A manufacturer sells the product to a wholesaler at
6% profit, the wholesaler sells the product to a retailer
at 8% profit and the retailer sells the product to his
customer at 10% profit. The price paid by the customer
is X31482. The cost of the product to the manufacturer
is

303z th’?oéddaig( /MED mzsmaﬁ 6% majd@m
S00083 SBT3, JED mzsm@ emz’awx;dxg 303
@900t 8% eBY Brevew BreIIT DA BT
mzsma U‘L)C’?Jﬁg(ddg( 10% U?Z,:SCSQ 3350( Mo,®30r
S700083 BTeRDTT. MYBID BBSIT &S X 31482,
U BBOT VB I T 5,

(a) X 28306
(c) X 25000

[SSC CPO 2019]

(b) X 26524
(d) X 26980

2. A merchant blends two varieties of tea, one costing
X 20 per kg and another costing X 28 per kg, in the ratio

mz;iéé S009E3 ATR. airacioa?a’nddg( 20% majéﬁ
D) odcﬁa’o;bdag 10% w038, S700TT, 93t X 5
Bed), AN, 28R I3 WSabe) démﬁmﬁ@

[SSC CGL 2013]
(b) X 75
(d) X 40

(@)X 25
()X 50

4. Among the goods purchased by a trader, two-fifth
were sold at 20% loss and the remaining were sold at
some profit. If on the whole transaction 10% profit is
made, what per cent of profit did the trader make on
the remaining goods?

mémé 00T FTNRYY, e OTD 230 20%
SR3, F0BTAD DB) LLITY) WL, 3B
SroTee3Tod@. VBe FHDEIRO 10% IS
APAB3, GLIB JTBNY e @90 o), Feswe

9 7
of 3: 2, respectively. He sold the mixture at X 24 per kg. ma‘jdd‘)’( NPT’ [MAT 2013]
What is his percentage of gain? (a) 15% (b) 20%
(c) 30% (d) 40%

@900 AT IFB BB, DB BRI,
20 381 X 20 VS D) Ao .81 X 28,
ZheeN 3: 2 UDTBBY. TD DFESRY BB < 24
308 o003 IBTD. BT FeSBaToD) U9t OR),?

5. A man buys two chairs for a total cost of X 900. By
selling one at some loss, for g of its cost and the other

: 5l . poc .
at some profit, for . of its cost, he makes a profit of X

90 on the whole transaction. The cost of the lower

[MAT 2013]
(a) 3.4% (b) 5.2% priced chair is
(c) 6% (d) None of these W) S30D AT BDBNYIY wed, X 900 3,

3. A person bought two bicycles for 1600 and sold the
first at 10% profit and the second at 20% profit. If he
sold the first at 20% profit and the second at 10% profit,
he would get X 5 more. The difference in the cost price
of the two bicycles was

we) B3 X 16003, TR I BOTIVRY 20D
SATOSBIY 10% 23 D) TVBIDTI, 20%

00eBDTIS. WOBRY, o), SR3,, B0 333 4/5 3,
D) f&d@xodd& Jo, 0RIBY, T3 IP3 5/4 1t
700083 RS BB, B X 90 U NPV,

QBe IDHeD. B 23eFod @e3eod 233

[SSC CGL 2012]
(a) X360 (b) X 400
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(c) X420 (d) X 300 533 B3 OeRr o, revees Sreiedd
SSC MTS 2017
6.h,.A :idfr b:ught| 10 kg of]c appclle: f(:)r % li(t)S OL:: :f (a) X 90 (b) X 85 [ ]
whic g of apples were found to be rotten. e (€)X 89 (d)X87.5

wishes to make a profit of 10% at what rate should he
sell the remaining apples per kg?

mzsm@oifaz%do X 4058, 10 38 e 00eDIW),
B30 138 T BpYADZHD 301 00T, BT
10% majd&d RYTe 00HAT3, VLT ﬁeu@( 3,3
33t ez’ BBBY Brevees SyedeleR)?

9. If books bought at prices ranging from X 150 to X 300
are sold at prices ranging from X 250 to 350, what is the
greatest possible profit that might be made in selling
15 books?

X 150 Oo@ X 300 TSNS JeSabd 20D
QDIBAYRY, X 250 DoB 350 BSVNI IIri Srevees

[RRB TC/CC 2009] ]l
(a) 245 (b) T 49.50 SBT3, 15 cp)r;\géﬁgd& o003 RT3
(c)X50 (d)X51 igtASarinl ﬁ?éd [SrYA) QF’&()J? [SSC (10+2) 2013]
7. A shopk blends t ieti ft ting X {ar =230 (=420
o snopkeeper enas two varieties or tea costing (C)? 3000 (d) o be determined

18 and X 13 per kg in the ratio of 7 : 3. He sells the
blended variety at the rate of X 18.15 per kg. His
percentage gain in the transaction is

©onBaba 3.8.1 18 ) X 13 SJad o8 B3
BHT, 7 : 3 ODTBBY WFjed DTN, WSD
33 .81 X 18.15 303Y B V0D, Syevees
SRR, Bt BT Be

10. A wholesaler sells a good to a retailer at a profit of
5% and the retailer sells it to a customer at a profit of
10%. If the customer pays X 2000, what had it cost (in
%) the wholesaler?

[/NED mzsayaﬁ 239)(3 aaasmbri’ 5% cmjde‘)m 903
TR D) BT a'aémé @ddg( 10% €933
My®30r o0et3 BN, My@3D X 2000

[SSC (10+2) 2013]
(a) 12% (b) 14% ToR3ATT, IeD mémaﬂ’ 33 33 oR),?
0, 0,
(c) 8% (d) 10% [SSC CGL 2017]
o A S : C %80 (a) 1731.6 (b) 3210.6
. A man purchase reams of paper a per (c) 1931.6 (d) 2310.6

ream. He spent X 280 on transportation, paid octroi at
the rate of 40 paise per ream and paid X 72 to a porter.
In order to gain 8%, he must sell each ream of paper for

we) F3 B3 OedTt X 80 ToZd 120 OedTiY
ST, 20DITD. artsrt X280 avede SroB, BB
Oeadfr! 40 FRabod ez b mBAD
337000302, 0rF X 72 TBSITD. 8% NPT, T

11. A sold a toy to Bat a profit of 15%. Later on, B sold
it back to A at a profit of 20%, thereby gaining X 552.
How much did A pay for the toy originally?

A esfséoi)dg( méw‘ﬁ 15% mejafdg( D003 BI.
<S03, B 0B DZ At 20% 03B e0TD), &
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Bwee)d X 552 ALATD. A 33317 0SB cb—-’md
DI3AITD?

(a) 2400
(c) 2760

[RRB NTPC 2016]

(b) X 2560
(d) X 2800
12. Dhiraj purchased some rice. He sold % rd of itat 10%

loss. At what per cent of profit of must he sell the
remaining rice so that there is no profit and no loss in
the transaction.

Beder Jo), 03, p0DIT. VTTY 1/3 eriaS), 10%
SB3, S0BD. BowetIRY) el D) S menFoB
NPT 30D R, CIB Teswed, By
Srereied.

(a) 5%
(c) 6%

(b) 15%
(d) 20%

13. A fruit seller buys 700 oranges at the rate of X 500
for 100 oranges and another variety of 500 oranges at
the rate of X 700 for 100 oranges and sells them at X 84
per dozen. The profit per cent is

®BEY Se0et3MeCT WD 100 33Y T X 500 B3WE 700
338¥ SR 100 B¥ri X 700 BB 500 SBYERY,
00eRDD BRI X 84 o3 Fyevet3 oS3, vl
e

(a) 20%
(c) 30%

(b) 40%
(d) 10%

14. Surabhi sold 80 kg of wheat. She sold the first 20 kg
at a profit of 20%, but the rest at a loss of 10%. What
was her overall profit or loss percentage?

Y 80 3B reed) 03 BBR). TR SPTO
20 88&1}@( 20% 9330 Sevee3 BT, 8TT

VRBI) 10% daﬁé. esB0d) ?»833“(3 7923 9B dﬁdd
FeSToTOD OR),? [KVS LDC 2018]

(a) 10% profit
(c) 5% loss

(b) 2.5% loss
(d) 2.5% profit

15. P bought an article for X 400 and sold it at a profit
of 10%. What would have been the increase in the
profit per cent if it was sold for X 4607

& 2,08 SeTBTY X 400 3, 0BITD D) VT,
10% &o3d) Syevetd SelTD. X 4608, 03T

33 Be. [RRB NTPC 2016]
(a) 5% (b) 10%
(c) 12% (d) 15%

16. /Arya bought two trousers from the wholesale
market and paid X 900 in all for the same. While he
could sell the first one at a profit of 12%, to clear the
stocks he had to sell the second at a loss of 15%, thus
neither making a profit nor a loss on the whole. What

was the cost price of the second pair of trousers?

BobF  OBD JED BODBIMOB ATD B0
2OEDITD DI ©TF, T 900 HISITD. I
SPBOR DBy Ox) oIt Freoees
SRRDTIEIR, BeDVR, ICIrRVTL BT
OCBRDTRY 15% IF3, B0 FrSesaNa),

12%

&ermon umddojnﬁ 93 9B da;afdg( dmdéoﬂ.

QVBIe 3eeB BDOL I e3eJ o=, ?vvv[KVS LDC 2017]

(a) X400
(c) X550

(b) X 450
(d) X 500

17. A man bought oranges at the rate of 8 for X 34 and
sold them at the rate of 12 for X 57. How many oranges
should be sold to earn a net profit of X45?

Pa
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2R, d?é X343, 830390 33% 00D 12 IBTY X 57
i 00083 dm&m@ﬁ. % 45 &’)533%3 7923 NPT caa’%

20. A person sells two machines at X 396 each. On one
he gains 10% and on the other he losses 10%. Its profit
or loss in the whole transaction is

3BY o003 RereleR)? [SSC CGL 2011] 22 déé TR oi)od;)rwdg( 39 X 3963¢ 00083
(a) 90 (b) 100 DTN, 20T 10% NYIBS HBR0BTY 10%
(c) 135 (d) 150

18. Manindar bought two horses at X 40000 each. He
sold one horse at 15% gain but had to sell the second
horse at some loss. If he had suffered a loss of X 3600
on the whole transaction, then the selling price of the

second horse is

Se30TT° BTD ST DWDTNYY, Bese X 40000 303
20eDITD. VTP 20T BDWDTAIY 15% TeITO

S,ZrHBd. 2l SHeedSY WET Ul VgD I,

[RRB TC/CC 2009]
(a) no gain, no loss (b) 1% loss
(c) 1% profit (d) 8% profit
21. Bajaj electronics sold two microwave ovens at X
4800 each. On one, it gained 20% and on the other, it
lost 20%. Find the gain or loss percentage for the whole
transaction.

WHRF aEY AT, 0D A BReded LTIV

0B B3 ATBIAD  DDTADD |23,
Pros * B SR 39 X 4800 803 Fre0ees WeBTW. 0BT 20%
DT3BV R). VB B3N BD X 3600 IR
o & NYLIBT d)é@_ﬂoddﬁ?ﬂ 20% Rﬂo—’%moﬁo&. QBe I3
DBAJBTT, TVBIe DRTOD D 3 e
S o BeEmmeth U BB SFBR), S0RDLAMD.
[SSC CGL 2012] l Wy, -
(a) X 30000 (b) % 30200 - o |[ roup ]
(c) 2 30300 (d) X 30400 igilless b8 s
(c) 4% profit (d) 5% profit

19. A man sold two articles for X 5000 each neither
losing nor gaining in the deal. If he sold one of them at
a gain of 25%, then the other article was sold at a loss
of

2R, dzsé TR SRARFY, X 5000 3, 0003 BT,
03 033 s@mé@%@ae@ ugme NER0Y. W3
IR uoddg( 25% RR), eedd, 2033, @d@(oz:b

22. On an article the profit is 210% of the cost price. If
the cost price is increased by 40% but the selling price
remains then what

constant, approximately

percentage of selling price will be the profit?

2,03 JeART e923) degdd 23e30d 210% esNG. a?egdd
ddoi)dg( 40% é&i&dd S8BT 0038 3eF %dmﬁ
VPRFT, ool WJabh womeR o), TeSwe

JeaITR) IR B, Se0ees el  [SSC CGL 2011]
L odTINBT? [SSC CPO 2017]
2 o) 1 0,
()15 % (b) 16 3 % (a) 55 (b) 62
(c) 17%% (d) 18%% (c) 74 (d) 85
Page | 4
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23. By selling an article for X 21, a man lost such that e 93D 3y T 500 Nedd 10 m’éso‘ a)@e&&’)dodg.

the percentage loss was equal to the cost price. The
_ _ Uy I3 0Iedri < 2000 aede SBBD. VTS
cost price of the article was 5 2

203 SWIR, X 21 8, Fre0et3 TPRDT RwPLB, WY OB, B 7508, Terte VVTHY, X 5508, Bye00E3
I3y FeBmemd IFIY,  IP3 ISR SBBD. 2w, U3 OFTe S %
SRrDE03 BYRER0BRD. SeaRsd ST IS (a) gain of 8% (b) loss of 8~ %
[SSC CGL 2010] (c) gain of 72 % (d) loss of 7~ %

(a)X300r% 70 (b) X35 or X 60
(c) X 45 (d) X 50
24. A person sold his watch for X 75 and got a 27. Cost of a packet of coffee powder and litre of milk
percentage profit equal to the cost price. The cost price are X 20 and X 30, respectively, 10 cups of coffee is
of the watch is made with one packet coffee powder and for each cup
W) BB B Deed O, X75 3, Spoet3 el 33 200 mL of milk is used. If coffee is sold.at 25% profit,
TSRS _ ey P majdaﬁg( SEEER the selling price of each cup of coffee.is

20D mééw‘ 500 D°BO° DR eI HIOS IS
RAA333 Je3adw

B@eN X 20 @) X 30, 200 mééaa‘ Bod BT
(a) X40 (b) X 45
(c) X 50 (d) X 55 10 3a° Zod SaedRUIMDHBE D) JE 3= 200

DOQEF ao—ao;dg( ALLVSpIgiIng a&oi)aig( 25% €593BQ)
25. Vyom purchased 30 dozen pens at the rate VY X 48

per dozen. He sold 10 dozens at 20 profit and the Sro00¢3 S8BT, B 83 Fodod Brevets e

remaining 20 dozens at 10% profit. What is his profit [SSC CPO 2013]
percentage? (a)X12.50 (b) X6.25
Vyom &8 BR X 48 ddd@) 30 BRF a’ﬁg(rﬁ%’ﬁg( (c)X8 (d)x10

200eBID). BID 10 BRINYIY, 20 UIBY D)
UOT 20 BRJFNYY, 10% 2368 Sre00et3 S1oBBD.
OBR IR Beswemed) Owm),?

(a) 13.33% (b) 15.17%
(c) 25% (d) 20%

26. Ramesh bought 10 cycles for X 500 each. He spent
X 2000 on the repair of all cycles. He sold five of them
for X 750 each and the remaining for X 550 each. The
total gain or loss% is

Papge | 5
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